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Správná je vždy jen jedna možnost A, B, C nebo D.
Choose the only alternative which is correct from A - D in each case.
1 Which of the following politicians did not hold the post of British Prime Minister?
A Horace Walpole
B Margaret Thatcher
C Benjamin Disraeli
D Winston Churchill

2 In the Battle of Hastings of 1066, Anglo-Saxons came against 
A Vikings
B Normans
C Celts
D Britons

3 The terrorist attacks on the World Trade Center in New York City took place on
A September 11, 2000
B September 9, 2000
C September 11, 2001
D September 9, 2001

4 Which of the following authors does not belong to the 19th century?
A Geoffrey Chaucer
B Charles Dickens
C Charlotte Brontë
D George Gordon Byron

5 J. R.R. Tolkien created the character of:
A Winnie-the-Pooh
B Humpty Dumpty
C Sirius Black
D Frodo Baggins

6 Which of the following are American writers only?
A Poe, Melville, Wilde, Hemingway,
B Steinbeck, Kerouac, Poe, Orwell
C Whitman, Steinbeck, Orwell, Kerouac
D Whitman, Poe, Melville, Kerouac 

7 The underlined phrase in the sentence “The little girl holding a balloon is my niece” functions as a(n):
A attribute
B adverbial
C adverb
D object

8 “All the world’s a stage” is an example of 
A metaphor
B metonymy
C irony
D synecdoche

9 This is the only occasion that ................ a tie. 
A I've seen him wearing
B I see him to wear
C I've seen him to wear
D I can see him worn

10 .......... any problems with your computer, give me a call. I'll be in my office. 
A Having had
B Would you have
C Should you have
D If you have had

